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M.Com. (Previous) ABST Examination, 2018

ADVANCED COST AND MANAGEMENT
ACCOUNTING

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Ge-31)
Answer all questions (50 words each).
All questions carry equal marks.

it gy AfEE ¥ TR W H IW 50 VR 9
sfu 7 & asft v ® ofF wEm g

PART-B [Marks : 50]
(Eve-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TOF THE ¥ UH WA I gL, HA AA W Hi9
T® G H IW 250 VR QA A B
Tft gl % % qud R
PART-C [Marks : 30]
(@vs-9)
Answer any two questions (300 words each).
All questions carry equal marks.

FE A YTT FIGC TAF TOT FT I 300 = A
afs 7 2 At weA ® o wEE 8

4802/1,950/555/168 [P.T.O.




PART-A
(Tve-3r)
1.  Answer all questions.
Tft WA % IW &
UNIT-I
(FFTE-1)

(1)  On which rule Pareto analysis is based ? What does
it indicate ?
W favemm fFe frem W omfm 22 @@ w0
I ww &2

(i) Fill in the blanks :
o s &1 9fd #

(a) Cost plus pricing ignores ............... and a8
AME AT HHE oo, AT .oernnn, T SUET
Faa Rl

(b) The rate of return to be earned by factory should
cover the ................ involved in business.
FREH BN TOE W A wW ® fom
e H fAfEd F owH H @A
=fEul

(c) There is no price policy in ................
. B OHE W Ay TE w R

4802/1,950/555/168 2



(iii)

(iv)

v)

(vi)

UNIT-II

(grE-11)

If variable cost and opportunity cost both are given
then how to decide whether a particular component
should make or buy ?

I e @M qU AR @ AE % T E
@ #y fuife F0 fF wF faftre wwew FER
7 wRT ?

How to calculate Throughput contribution ?

Yz SivEM F MO HY FW ¥ ?

UNIT-III

(gehTS-I1)
Given : Setting up cost Rs. 12,000, Output 15,000
units and production batch size 100 units. Calculate
cost per set up activity.

fear ® ; Af¥T-om0 @R 12,000 %, IHRA 100 B
9 FHER H 15000 THEA w1 SERAl W
We-aq Tfafafa #7 v §@  Fieg

Write name of different costs according to nature of
production process given in CAS-1 ?

Hewm-1 § @ T e wEm # vl ®
amr R A= wrm ® m fafaw
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UNIT-IV
FFR-1IV)

(vii) Fill in the blanks :
fam o g w0

(@) Variance analysis involves the ............... and
seeennennee OF Variances.,
ﬁm f?':rva’fw AR o LRl
................ wiwfea g 21

(b) Volume variance arises because of ............
expenses.

o TE F FNO IQA A B
(c) The relation between the finished product and

the raw material input is known as ................

fafds SR qen w=t Wl ® TR ® A

TEH B o, e S 2
(viii) What are the control points of Target costing ?

I A o ® freem fag o wm 2

UNIT-V

(FFE-V)

(ix) How to compute Economic Value Added ?
A eI We F A HW oF oW &2
(x) What are the components of Balance Score cards ?

TR @R FE P gHE FOE?
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PART-B
(@ve-9)

UNIT-1
(F@TE-1)

2.  Explain the application of Pareto analysis in the following

business situations :
frey SR R § i fadw B sy
H TR HIfe
(i) Customer Profitability.
TEH  FHREh
(ii) Stock Control.
s fEEm
(iii) Pricing of a Product.
w IR W ogeg fRuf
OR
(FrerE)

Discuss the concept of Skimming pricing policy and
Penetration pricing policy.

mmqyﬂ-ﬁmﬁmﬁﬁmmtg@-ﬁaﬁwm
F EUROT H TIHEC
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UNIT-II

(¥eFTE-10)

3. A Paint manufacturing company manufactures 4,00,000
per annum medium-sized tins of "Spray Lac Paints" when
working at normal capacity. It incurs the following costs of
manufacturing per unit :

& T i w g s w s s @
9 7o AR F W WF I=@' T ® 400000
F1 i SERT FA ¥ wH W THE SamEs o
ﬁwmﬂaa‘mi

Rs.
Direct Material 15.60
(Y wm)
Direct Labour 4.20
(F9e 47)
Variable Overheads 5.00
(Wadwier  sufteg)
Fixed Overhead 8.00
(Tt 3uftery)
Production cost per unit 32.80

(W ¥ IR @)

Each unit (tin) of the product is sold for Rs. 42 with
variable selling and administrative expenses of Rs. 1.2 per
tin. During the next quarter only 20,000 units can be
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produced and sold. Management plans to shut down the
plant estimating that the fixed manufacturing cost can be
reduced to Rs. 1,48,000 for the quarter. When the plant is
operating, the fixed overheads are incurred at a uniform
rate throughout the year, Additional cost of plant shut down
for the quarter are estimated is Rs. 28,000.

voF THE 42 T H A w31 e e
T = 1.2 % T #1 o fomt # s
20,000mﬁmw@ﬁmﬁmmm%1
e @ w AR F W AER W W f
o e ® fau wemh Iufedl @ 148,000 ¥ TE
= @ wEd W Wi FEdE g @@, W
sofers woq 4 A TR | Y T A 8 W TR
=3 3 f@ @ fu sRfeM @A 28000 TR

Comment :

feooft sifeC :

(a) Whether the plant should be shut down during the
quarter, and

w1 fEE ® W Wi W 9= w A ey,
AR

(b) Calculate the shut down point for quarter in units
of products (i.e., in terms of number of tins).

fro B g A= ER W fag IR W TR
H TMoE il
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OR
(s1eram)

Explain the concept of Throughput accounting.
Identify the factors which influence to throughput
accounting.

ﬂzﬁ@mﬁmﬁmﬁmltﬁaﬁw
T TMEY S gye @A wowwhm wE Y

UNIT-III

(FeTE-110)

4.  What is the fundamental difference between Activity Based
Costing system and Traditional Costing system ? Explain
with suitable example.

Tty s e S T W T s
F W AR AR 2 IR T Y we
Fifeu)

OR

(&)

Write a detailed note on Cost Accounting Standard-3 '
Overheads.

T P THI9-3 SIREE W wF e A fafan
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UNIT-1V

(FFTS-1V)

5. A company has the capacity of production of 80,000 units
and presently sells 20,000 units at Rs. 100 each. The
demand is sensitive to selling price and it has been
observed that every reduction of Rs. 10 in selling price the
demand is doubled. What should be the target cost at full
capacity if profit margin on sale is taken as 25% ? What
should be the cost reduction scheme if at present 40% of
cost is variable with same % of profit ?

T FEA F 80000 THEA B IR W oawa £
T FEHE A 20000 THEEA 100 T ¥R HE W aw
RIS RO Y——
™ R o W 10 3w v s oW omh
TH B W D e w wm ww w e
T R g W 25% #1 IR 40% e uRedeie
T AT AW ® wm W e s de s e o

OR

(S79an)

What are the causes of Cost variances ? Explain possible
favourable and adverse causes.

T el & o oww ¥ et e wE
TEE FRO W e i
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UNIT-V
(FHE-V)

A company consists of two divisions : Properties division
and Food service division. The division's total assets,
current liabilities and before tax operating incomes for the
most recent year are as follows :

@M%ﬁﬁﬂﬂ%:mmamm@m
faarm RO # e wfeE, W A e w
feed a@ T T ® e TR €

Division Before Tax Total Assets Current
(faum) Operating Income | (%@ &) | Liabilities
(Fqd aft=eE o) (=], Tae)
(Rs.) (Rs.) (Rs.)
Properties 2,90,00,000 14,50,00,000 30,00,000
Food Service 1,50,00,000 6,40,00,000 60,00,000

The company's tax rate is 40%. Weighted average cost
of capital is 10.56%.

o F T 40% B1 R i goh T 10.56% R

Calculate Economic value added for both the divisions of
the company.

o 3 < R @ fog s ged Sig w1 A
gl
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OR
(31eam)

Explain the importance of learning and growth perspective
of Balance score card by taking suitable example.

HIEH TR FE # fmm qen 3fg w3 wew
F IR T AW T W g

PART-C
(@veE-w)
UNIT-I

(FFTE-1)

An organisation manufactures a product, particulars of
which are detailed below :

TF W TF IO FH o et ¥ fegwr fyao
= wem #

Annual production (Units) 20,000
(¥ S (s

Cost per annum (Rs.)

[af¥F &\ (%))
Material 50,000
(|t
Labour 60,000
(%)
Overheads 40,000
(39fegT) SN -
Apportioned Investment (Rs.) 1,50,000

[safsa fafam (%))
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Determine the unit selling price under two strategies
mentioned below. Assume that the organisation's tax rate

is 40%.

frm aftfs & sEETe ® o W e g
# frufor Ffwm SwwEw @ oW R W 40% A

(a) 20% return on investment,
fafam W 20% wEHEI

(b) 6% profit on list sales, when trade discount is 40%.
& SRE T2 40% & T G fawma W 6% Tl

UNIT-II
(gerE-10)

information is available :

A company has three products A, B and C. The following

w FWE ® @9 IR A, B ¥ C ¥ = g

T ¥ ¢
Particulars A B ¢

Sales per unit (Rs.) 100 150 | 200
v @R fawa (%)
Direct material per unit (Rs.) 76 130 | 188
vy Wy TR (%))
Machine hours required per unit :
(¥ T WA wUe)

Machine 1 (/A 1) 12 4 |2

Machine 2 (WA 2) 18

Machine 3 (¥ 3) 6
Estimated Sale Demand 200 200 | 200
(s fawa W)
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It is given that machine capacity is limited to 3200 hours
for each machine.

You are required to calculate the Throughput accounting
ratio and identify the suitable product mix on the basis.

7 R ™ % 5 owRw wiw ® faw 3200 2 @
e e H@ifm R

S9! YU TEFT HIIG F1 A H T AL I9GE
SER g w@ o wE R

UNIT-III
(FETE-11I)

9. A Bank has three products, viz., Deposit, Loans and Credit
cards. The bank has selected four activities for a detailed
budgeting exercise, following activity-based costing
methods. The bank wants to know the product wise total
cost per unit for the selected activities, so that prices may

be fixed accordingly.

w ¥F B A AR ¥ - W, B o9 #fe e
¥% 3 frmm W Tfafafy # o W m nRfRel
w7 fEm wfr a8 wfufafy smufm orm Saisa fafy
M W TH dF TOF IR B faw W IEE w@
T {A HCT Gwd ® afe IER SER Wed &
fruftor e sm @)
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The following is availabe to formulate the budget :

w’j’mm%mﬁwﬁ"@amﬁ:

S.No. Activities Present Cost

(%H.) (nfafafier) (FdAFE &)

1.  ATM Services (This activity is
driven by No. of ATM transactions)

TAm. Han (I nfafafy i

el 1 WEn W i §)

(@) Machine Maintenance 4,00,000
(b) Rents 2,00,000
(¢)  Currency replenishment 2,00,000

Total 8,00,000

2 Computer Processing (This activity
is driven by the number of computer
transactions) 10,00,000
FE WiHAEA (9 Tffaty
FER HAEN F1 e | i
et #)

3 Issuing Statements (This activity is
driven by number of statements) 20,00,000
forifira feram (= wfafarfy faron
1 W ¥ wiwd #d 2)

4. Computer Enquiries (This activity
is driven by telephone minutes) 3,60,000

FIR [BA® (TE Tafat
et firrel eI §)
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The activity drivers and their budgeted quantities are
given below :

fafafy weE 9w e a9 W AN @ mh ¥

Activities Deposits | Loans |Credit Cards
No. of ATM

Transaction 1,50,000 — 50,000
(T =TTert

H HE)

No. of Computer
Processing Transactions 15,00,000 | 2,00,000 3,00,000
(FPgR wiwaiea
TEER F1 GEA)
No. of Statements
to be issued 3,50,000 50,000 1,00,000
(frifr fed =2
oo #1 wem)
Telephone minutes 3,60,000 | 1,80,000 1,80,000
(e famem)

The bank has a volume of 58,600 Deposit accounts,
13,000 Loan accounts and 14,000 Credit cards accounts.

dF F UG 58,600 WA WR, 13000 WU @R Aq
14000 wfez #€ @m &
You are required to :
HIH T A T
(i) Calculate the budgeted rate for each activity.
&F Tffaf ® fw T w ¥ S

(i) Find product cost per account as per activity-based
accounting system,

nfafafy smafe craiea sraen # AR W @
SER TR FE e
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UNIT-1V
(FFE-1V)
10. What do you mean by Reporting of variances ? Explain in
the light of partial and single plan.

faarol 3 whidew ® oMy F THIR £ 2 e w
T a9 % g=d § wme Fif

UNIT-V

(FHE-V)
16, Write short notes on the following :

(i) Economic Value-added verses Return on Investment.
afdf gea wig s m fafEm | weE .

(i) Cash value added. J 4
THE eI e

(iii) Market value added.
IER g el

(iv) How to improve EVA ?
{dfiT N HY FUN WM ? "

o
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